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Solutions

Disclaimer: In Business Analytics, there are different ways of solving the same set
of problems, we are just presenting one. Feel free to explore other ways of
answering these questions.

1. The team wants to analyze each variable of the data collected through data
summarization to get a basic understanding of the dataset and to prepare
for further analysis.

To understand how the data is distributed in the dataset and the kind of
variables present along with their count, what is their maximum and
minimum value, etc., a summarization of the data is done.

Code:

Click ‘summary’ and specify the analysis variables—time on page, bounces,
exits, unique pageviews, and visits.
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Result:

From the result of the summarized dataset, it is observed that the
numerical data includes the information of maximum, minimum, mean,
standard deviation, and N of the data. N gives the total number of data
under each variable. This will help us in further analysis.
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2. As mentioned earlier, a unique page view represents the number of
sessions during which that page was viewed one or more times. A visit
counts all instances, no matter how many times the same visitor may have
been to your site. So the team needs to know whether the unique page
view value depend on visits.

To analyze the variables that affect the unique pageviews to the website, it
is needed to perform ANOVA on the unique pageviews and the other
variables.

Code:
Tasks -> Statistics -> One Way ANOVA
Result:

We can infer from the results that the unique pageviews variable has a
significant impact on the variables—source group, bounces, continent,
visits, and time on page. So we can conclude that unique page values

depend on visits.
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3. Please find out the probable factors from the dataset which could affect the
exits. Exit Page Analysis is usually required to get an idea of why a user is
leaving the website for a session and moving to another site. Please keep in
mind that exits should not be confused with bounces.

To understand and analyze the factors that are related to exits from the
site, we need to use ANOVA.

Code:

Tasks -> Statistics -> One-way ANOVA

Result:

From the result of ANOVA given here, we can see that all the variables
here, such as, source group, bounces, unique pageviews, continent, visits,
and time on page affect the exits from the page.
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4. Every site wants to increase the time on page for a visitor. This increases
the chances of the visitor understanding the site content better and hence
there are more chances of a transaction taking place. Find the variables
that possibly have an effect on the time on page.

To understand and analyze the factors that are related to the time on page
of the site, we need to use ANOVA.

Code:
Tasks -> Statistics -> One-way ANOVA
Result:

From the result of ANOVA given here, we can see that continent, source
group, bounces, unique.pageviews, and visits have more significance.
Hence we can say that the time on page of the site is affected by the factors
of continent, source group, bounces, unique pageviews, and visits.
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5. A high bounce rate is a cause for alarm for websites that depend on visitor
engagement. Help the team in determining the factors that are impacting
the bounce.

To know the variables that have an impact on the target variable bounces,
we need to perform regression. Here we will perform logistic regression.

Since the data for the variable bounces should be between 0 and 1, we will
multiply the value of bounces with 0.01 and save it in a variable
BouncesNew. Then perform logistic regression with BouncesNew and the
independent factors.

Code:

ods graphics on;

proc logistic data=shoes plots=effect;

class UniquePageviews Exits;

model BouncesNew = UniquePageviews Exits;
run;

ods graphics off;
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Result:

It can be inferred that unique pageviews and exits impact the target
variable, bounces. Since every bounce is an exit, it has greater significance.
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